Derivative Proficiency
Oct 25th MATH 251 Fall 2017

Circle your Instructor: Faudree, Williams, Zirbes /15

Namme So\whons Zivoes

This is a 30 minute quiz. There are 15 problems. Books, notes, calculators or any other aids
are prohibited. Calculators and notes are not allowed. Your answers should be simplified unless
otherwise stated. They should begin ' = or f/(z) = or dy/dx =, etc. There is no partial credit. If
you have any questions, please raise your hand.

Circle your final answer.

For each function below, find the derivative.

1. g(z) = 22! — /B5x + 72

(X)) = 8. 3 “\n
e

PO =82 x> — 5
8 =

TOO=8-7.5<3"- s
2 15x%x

2. f(z) = 3% + cot(4x)

/’T’U‘): (In3) 3% — 4 cscf'(%@l

3. F(0) = 40 tan(0)

(7-"(9): 4t + 49 selt@ ‘

Elé): 4 (tanb + § selo) |
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4. h(z) = 2x +1)(3 — )3

R = 3 (3% + (2x+1)- 5 (3—) ()

B = m e mewers gor Rl evedik
—(2 (3-X)"= 5 (2 +DNB>—X) l WMis Hwe ) ok will nor nexk hne.

= (g_x)‘* (a(>»-%) —sczx—m) (

= (CB—X)U'U — \ZX)J & i 1o the form
Your answer wi\\
V\Qed ‘\0 be '\ o~

== x4

S~ 55X Tgx
o= 1 2
(5= x>+ 3]

= ~4 (Lx2s)
= -4 (8 (29) ™% 2x

=4 L5y |

= “x
4257

7. F(z) = 1257::;1 (Use the Quotient Rule.)

Fro= 0-x+1) eX — e* (1x—-1)
= +1)"

= & x4 —2x4)
O~ +ND=

= [ (X1—3x+7_)
=%+
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Z_4 >
& 2t*

L= 187 ¢" 4t 3
TZ v Phae 0%

2= 7t -8t -
2t

9. y = 122*3(x + 3)

Y= 2x"> 4 2y

Y= 20 X" + 36 (y5)X>

C_% X + '-t%x
C—H”(‘lxﬂﬂ

(‘T: Y328 % + 4%

10. G(z) =In ((zgﬁTy)
= MX +meX =2 wiEH)

=X + X = 3wn¢H)
QoO={% 4+ - bx
Xl

= 1+ x4 = bx X
% (¢ +)

= E =5 X Ay
x O +1)

11. h(z) = z(lnz)(cos x)
Ko =

1O Yosk)+ XL o+ X () (-sinx)

=\ (N + e - x L\m)(sv@
T

Vol + X \nx (—6inx)
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12. H(x) = arctan(e3?)
e%x

)= ' .
W=

2
_ 3>

| + gb¥

13. f(z) = (z + sec(2z)) " [You don’t need to simplify, but use parentheses correctly.]

l fO) = —3(x+ facccu))'% (\~ 2 w.ux)tm(@
= (-2 (1+ 2sec (2x) wn (10)
(X + sec (2x))®

~\

14. g(z) = zet/® = % e”

) Y P
JOO=1e" 4+ x e’ (-IxY)
= (e‘/x — e\

=le (1 - )|

=(e* — eYx
X

— c\/,( ( x—;\-) )

Find dP/dr for P = C arccos(kr) 4+ 2Ck where C and k are fixed constants.

15.
d
=]|— C
\[I—\f'r"
— c

V= (er)

)
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